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 WOr]ÕV   NOTE 

(I) S\Lh|SkÕr]¤ A\ÿa]\ÿ  

8 kOr°tORºÐV hpvOR\pÅV 

DrÕOvqO¾OW. 

(I) Please check that this question 

paper contains 8 printed pages. 

(II) kq}ƒL¡À] S\Lh|SkÕr]R£ 

vsfOnLY¾O RWLaO¾]q]¨OÐ SWLcV 

jÒ¡ D¾q¨asLô]R£ RRaã]¤ Sk^]¤ 

IuOSfºfLeV. 

(II) Code number given on the right 

hand side of the question paper 

should be written on the title page of 

the answer-book by the candidate. 

(III) S\Lh|SkÕr]¤ 7 S\Lh|°¥ DRºÐV 

hpvOR\pÅV  DrÕOvqO¾OW. 
(III) Please check that this question 

paper contains 7 questions.  

(IV) D¾qRouOfOÐf]jO oOÒLp] 

D¾q¨asLô]¤ S\Lh|¾]R£ NWojÒ¡ 

IuOfOW. 

(IV) Please write down the Serial 

Number of the question in the 

answer-book before attempting it. 

(V) S\Lh|SkÕ¡ vLp]¨L¢ 15 o]j]ŸLeV 

AjOvh]\ÿ]ŸOçfV. qLv]Rs 10.15 jO 

S\Lh|SkÕ¡ v]fqeU R\áOÐfLeV.  

10.15 oOf¤ 10.30 vRq v]h|L¡À]W¥¨V  

S\Lh|°¥ vLp]\ÿOSjL¨LjOç 

yopoLeV. CT yopU D¾q¨asLô]¤ 

KqO D¾qvOU IuOfL¢ èo]¨qOfV. 

(V) 15 minute time has been allotted to 

read this question paper. The 

question paper  will  be  distributed 

at 10.15 a.m. From 10.15 a.m. to 

10.30 a.m., the students will read the 

question paper only and will not 

write any answer on the  

answer-book during this period. 
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The question paper is divided into four sections : 

Section A : Reading Comprehension  10 marks 

Section B : Writing   14 marks 

Section C : Grammar   20 marks 

Section D : Literature   36 marks 

I v]nLYU / SECTION A 

1. fLRu RWLaO¾]q]¨OÐ X¼]W vLp]ÞÿV \OvRapOç 

SÞLh|°¥¨V D¾qRouOfOW :  

yLz]f|nLxp]¤ yUyVWQf¾]R£ Af]NkyqU 

NWoLf}foLpSÕ¥ vt¡ÐO vÐ BwpoLeV,    

Aj|nLxLkh°¥ WsqL¾ k\ÿospLt NkòLjU. 

kR¾LÒfLU jPãLº]¤ RWLaO°sæP¡ SWNÎ}Wq]\ÿLp]qOÐO 

Cf]R£ Nkv¡¾jU. RWLaO°sæP¡ WO´]¨OŸ¢ fÒOqLjLeV 

fj]ospLt¾]¢ Bh|oLp] KqO WQf] q\]\ÿfV. S\sÕrÒO 

jÒPf]q], Rv¦oe] A±¢ jÒOf]q]ÕLaV, Rv¦oe] oz¢ 

jÒPf]q]ÕLaV, jaOv¾±¢ jÒPf]q], KrvËq jLqLpe¢ 

jÒPf]q], w}RvLç] jLqLpe¢ jÒPf]q], WL¾Oç]¤ 

A\|OfSoSjL¢, WOrO¡ jLqLpe SoSjL¢, SWLŸLq¾]¤ 

wËO¹], KaOv]¤ WO´]WQxVeSoSjL¢, oPsP¡ 

kÄjLnÕe]¨¡ fOa°] pvqLeV CT NkòLj¾]Rs 

NkoOXWv]W¥. mLs yLz]f|WLq]pLp yOoUYs k\ÿospLtU 

j]ZºO fáLrL¨]p]ŸOºV. JWShwU KqO jPrrLº]jO oOÒV qºV 

yLz]f|WLq¢oL¡ fÚ]sOç vLhNkf]vLhoLeV Cf]R£ 

k]rv]¨V WLqeoLpfV. ospLtyLz]f|¾]R£ vt¡\ÿàV 

j]hLjoLp v]h|Lv]SjLh]j] oLy]WpORa ^jp]fLvLp y].k]. 
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A\|OfSoSjLjOU Af]Rj If]¡¾ Wv] RWLaO°sæP¡ 

WO´]¨OŸ¢ fÒOqLjOU Bp]qOÐO, Av¡ yUØQf kh°¥ 

f}Rq DSkƒ]\ÿV KSÐL qSºL SwæLW°¥ q\]¨OW IÐf]¤ 

Wv] V́ KqO WLv|U kP¡eoLpOU q\]¨OW AyLi|oLReÐV 

A\|OfSoSjLjOU AfV yLi|oLReÐV WO´]¨OŸ¢ fÒOqLjOU 

vLh]\ÿO. vLhU yo¡À]¨OÐf]jLp] fÒOqL¢ ‘jsænLx’ 

IRÐLqO WLv|U j]¡Ú]\ÿV RWLsæv¡xU 1066 ¤ 

v]h|Lv]SjLh]j]p]¤ Nky]È}Wq]\ÿO. fOa¡ÐOºLp Wv]Wt]¤ 

NkoOXjLp WOºP¡jLqLpe SoSjLR£ ‘jLsOnLxL WLv|L°¥’ 

IÐ Skq]¤ yoLzq]¨RÕŸ SWLoÕ¢, w©¢ fÒOqL¢, 

kL¨jL¡, W¹¢ IÐ} WQf]W¥ k\ÿospLt q}f]p]¤ 

q\]¨RÕŸvpLeV. 

SÞLh|°¥ : 

(i) JfO yLz\q|¾]sLeV k\ÿospLt NkòLj¾]R£ 

k]rv]pOºLpfV ?  2 

(ii) y].k]. A\|OfSoSjLjOU WO´]¨OŸ¢ fÒOqLjOU 

vLh]\ÿRfÍV ?  2 

(iii) k\ÿospLt NkòLj¾]¤ WOºP¡ jLqLpe SoSjLR£ 

yUnLvjRpÍV ?  2 

(iv) k\ÿospLt NkòLj¾]Rs NkoOXWv]W¥ BRqsæLU ?  2 

(v) k\ÿospLt j]ZºO IuOf]pfLqV ? CT XeVc]WàV 

D\]foLp KqO w}¡xWU j¤WOW. 2 
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m] v]nLYU / SECTION B 

2. (a) JRfË]sOU KqO v]xpR¾¨Or]ÞÿV qºO kOr¾]¤ 

Wv]pLRf Dkj|LyU fáLrL¨OW. 7 

(i) ospLt]pOU ospLtvOU 

(ii) jPfj yLSËf]W v]h|pOU v]h|Ln|LyvOU 

(iii) SWqt¾]R£ kLq]ò]f]W NkwÔ°¥ 

(b) kq]yq os]j}WqeU oPsU kW¡\ÿv|Li]W¥ ka¡ÐO 

k]a]\ÿ]q]¨OÐ yLz\q|¾]¤ yf~qèÈ SveRoÐV 

ASkƒ]\ÿORWLºV kµLp¾V Nky]cºV IÐ j]sp]¤ 

^]sæL NkLgo]WLSqLY|SWNÎU cprW›¡¨V KqO W¾V 

fáLrL¨OW. 7 

y] v]nLYU / SECTION C 

3. (a) NkSpLYU oLãOW.  12=2 

(i) WºO¹] ève¾]jÕOr¾Oç KqO 

òLp]p]¤ j]sv]t]\ÿO. 

(ii) yP\] Dp¡¾OSÒLRusæLU ApL¥ 

A³LfoLRpLqO kLŸ]jO Svº] WLSfL¡¾O. 

(b) AUYvLW|U, AUY]vLW|U Cv Sv¡f]q]RÞÿuOfOW.  12=2 

(i) SYã]¤ \}ŸO f]q]\ÿORWLaO¾O RWLºV   

RvçLp]pÕ¢ kOr¾O WaÐO. 

(ii) w]m]q¾]¤ j]ÐO kOr¾O \La] KLaL¢ 

R\ÐvRq WQkqOU WQfv¡ÚLvOU 

h~LqShw¾V Rv\ÿV RWLÐOv}u¾]. 
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(c) vLW|¾]¤ RfrrORºË]¤ f]qO¾OW. 12=2 

(i) C°Rj nOvjv]h]fvOU SsLWNkwñvOoLp 

oLv]R£ vUw¾]sLeV `°tORa RWL\ÿO\¨q\ÿ] 

vÐO k]rÐfV. 

(ii) JWShwU qºO oLyS¾LtU Cav]ŸV kOf]p 

mLãr]W¥ oLrr]p]ŸORWLºV \L¨O¹] 

Src]SpLpV¨V WeVbwOÈ] vqO¾]. 

(d) k]q]RÞÿuOf] yÌ] j]¡¹p]¨OW. 12=2 
(i) RfsæOrR¨ 
(ii) oLpORouO¾OW¥ 

(e) v]NYz]ÞÿV yoLyU j]¡¹p]¨OW.   12=2 
(i) yOÎqhQì] 
(ii) wLSXLkwLXW¥ 

(f) kq|Lpkh°¥ IuOfOW.   12=2 
(i) SoiU 
(ii) RoLu] 

(g) jLjL¡Àkh°¥ IuOfOW. 12=2 

(i) Aa] 

(ii) AepOW 

4. NmL¨ã]¤ j]ÐOU wq]pLp D¾qU IaOR¾uOfOW.  

(a) v]kq}fkhU IuOfOW. 12=2 

(i) D\ÿU  

 (j}\U, Af|O\ÿU, oÎU, AsyU) 

(ii) AjOWPsU 

 (WPsU, NkWPsU, Nkf]WPsU, jOWPsU) 
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(b) A¡Àv|f|LyU IuOfOW.  
2

1
4=2 

 (i) AËU – AËeU 
 (oOrrU, BWLwU, pOÈU, j]WOf]) 

(ii) WVxfU – WVxpU 
 (WuO¾V, jLwU, oOr]vV, KTxiU) 

(c) If]¡s]UYU IuOfOW.  12=2 

 (i) yÍOxVa¢  
 (yÍOxVa], yÍOxVa, ySÍLxvf], fOxVa]) 

(ii) ZLfW¢  
 (ZLfW], ZLf]W, ZLfLvV, ZLf]j]) 

c] v]nLYU / SECTION D 

5. NmL¨ã]¤ j]ÐOU wq]pLp D¾qU IaOR¾uOfOW.  
2

1
4=2 

(a) (i) ‘‘KLe¨Ls¾OeqOU `L¢, f]qO &  

SvLeÕLŸOWtLRe¢ kLŸOW¥.’’ CfV BqORa 

vq]WtLeV ? 

 (v]. oiOyPhj¢ jLp¡, WOoLqjLwL¢, vpsL¡ 

qLov¡Ú, RRvSsLÕ]ç] è}iqSoSjL¢) 

(ii) ^}vRjLaO¨L¢ RkLßp]SspV¨V \La]p jt]j]Rp 
qƒ]\ÿfLqV ? 

 (h]vLWq¢, yj|Ly]j], A±¢, oO¨Ov¢)  

(iii) y¡«Swx]pLWOÐ WOf]qRp ftàOvL¢ 
SpLYheVcOoLpV BqLeV vÐfV ? 

 (Nkk]fLoz¡, RRhvU, BYof¾~Svh]W¥, 
qL^W}SpLÓ¾ SyjW¥) 

(iv) ‘sWVxVoe yLÍ~jU’ IÐ kLbnLYU IaO¾fV JfV 
WQf]p]¤ j]ÐLeV ? 

 (Ai|LÄqLoLpeU W]t]ÕLŸV, vL¤o}W] qLoLpeU, 
ozLnLqfU W]t]ÕLŸV, WQxVeYLg) 
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(b) (i) v]w~v]X|Lf rx|¢ SjLvs]ðV Bp hyV 

fSpvVyVW]pORa ^}v]fR¾ By×hoL¨] q\]\ÿ 

SjLv¤.  

 (Svjs]¤ kP¨OÐ oqU, KqO yË}¡¾jU SkLRs, 

nLqfkq|ajU, XyL¨]R£ Cf]zLyU.) 

(ii)s o¡Ú°t]¤ RkqOv]q¤ DTÐ]po¡¾] NhTe] Wg 
Wu]\ÿfV BRq ? 

 (pOi]xVb]q¢, kq}ƒ]¾V, iQìh|OoÔ¢, w]X¼]) 

(iii) ‘kepU’ IÐ WgpORa kwV\L¾sU Iv]RapLeV ? 

 (kLaOfr NYLo¾]¤, BrLŸO WOÐ]¤, 
WOqOSƒNf¾]¤, Ry£Vk}SrruVyVm¡Y]¤) 

(iv) AÒs¾]Rs ja fOr¨L¢ WL¾]q]¨OÐ SkLRs 
RvttLp]pÕ¢ CqOÐRfv]RapLeV ?   

 (^p]s]R£ DÚrR¾ \LqO ka]p]¤, 
f}vº]pLÕ}y]Rs Rmµ]¤, v]^joLp 

Wa¤¾}q¾V, f]q¨Oç f}vº]àW¾V) 
2

1
4=2 

6. (a) D¾qRouOfOW.  43=12 

 (i) ‘‘jh|LRoLuOWOÐ WLxVb°¥ SkLRspO& 

RoNfpOU \µsoLspyUYoU’’ & yÎ¡nU, BwpU, 

Cv v]vq]¨OW. 

(ii) ozLms]Rp vqSv¤¨L¢ NkWQf] ja¾OÐ 

KqO¨°¥ ‘KLeoOrr¾V’ IÐ Wv]fRp By×hoL¨] 

v]vq]¨OW. 

(iii) ‘‘Aj| ^}vjOfW] y~^}v]fU&  

ij|oL¨OooSs, v]SvW]W¥.’’ & yÎ¡nvOU BwpvOU 

v]vq]¨OW. 
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(b)  (i) ‘‘v}aL¾ Wa°¥ kaS\ÿLR£ yPWVx]ÕOWtLeV, AfV 

A°Rj fRÐ Cq]¨RŸ’’ & CfV kr´fLqV ? 

krpLjOºLp yLz\q|U v|¨oL¨OW. 

(ii) ‘‘RWL\ÿO \¨q\ÿ]¨OvÐ oLjOx]W nLv°tLeV B 

kLbR¾ oSjLzqoL¨]¾}¡¨OÐfV ’’ & 

v]wh}Wq]¨OW.  

(iii) ‘‘B zQhSpLÐf]¨O oOÒ]¤, B Bn]^Lf|¾]jO 

oOÒ]¤ Kq]rrO W¹j}¡ fPWLf]q]ÕL¢ B¡¨O 

yLi]¨OU ?’’ & C°Rj krpL¢ WLqeRoÍV ? 

v]wh}Wq]¨OW.  43=12 

 

7. JRfË]sOU qºO SÞLh|°¥¨V D¾qRouOfOW   42=8 

(a) WO´¢ k]ç fLjSj~x]\ÿOjaÐ BfVo}p YOqOv]Rj 

WRº¾]pRf°Rj ? v]wh}Wq]¨OW. 

(b) \ŸÒ] y~Lo]WtORa ^}v]fq}f]WtOU nƒeNWovOU v]vq]¨OW. 

(c) ‘‘Ar]v]sæL¾v¡¨V Rvt]vOºL¨OvLjOç y~Lo]WtORa 

Wu]vV Nky]hVioLeV’’ & DhLzqe yz]fU v|©oL¨OW.  


